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QUESTION 1

Which two fields are mandatory to set up a carrier in the Carrier Set-Up Ul, if you want to utilize Parcel Carriers to fulfill
orders? (Choose two.)

A. Carrier Phone Number
B. The Ship Via

C. The Company

D. The Carrier Type

E. The Description

Correct Answer: CD

QUESTION 2

Select two true statements about Group Configuration. (Choose two.)

A. Only the RF Menu uses the concept of Groups

B. Users can assign specific access to activities by using Group permissions

C. Permissions come already pre-assigned to standard Groups in the system and cannot be changed
D. Users must log out when switching Groups

E. User can belong to multiple Groups

Correct Answer: BE

QUESTION 3

During which of the following three scenarios does the WMS validate or throw an error message during picking with a
serial number tracking execution? (Choose three.)

A. When the scanned serial number is not present in the scanned IB LPN or Outbound LPN or item and is present for a
different facility.

B. When the scanned serial number is present in the scanned IB LPN or active location and also exists for another item
in stock in the current facility.

C. When the scanned serial number is not present in the scanned IB LPN or Outbound LPN or item and is currently
linked to another Inventory Record for the facility.

D. When the scanned serial number, which is associated with an OBLPN in shipped status for a different facility, is not
found for the current facility.

E. When the same serial number, which is already present on the same Sku in a different facility, is scanned.
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Correct Answer: ABE

QUESTION 4

Select three statements are true. (Choose three.)

A. Appointments can be used (instead of IB loads) as a way of checking in Loads into the WMS Cloud for receiving.
B. The Duration as specified cannot be exceeded by the users.

C. Appointments cannot be used to track lead-time from the trailer\\'s check-in time to the receipt of the first LPN into the
system.

D. The matching value type and matching value must be specified when the appointment is created.
E. Appointments are useful for tracking time discrepancies in various metrics such as planned and actual arrival time.
Correct Answer: ADE

Reference: https://learn.oracle.com/ords/launchpad/learn?page=inbound-overviewandcontext=0:44112:44122#h2_004

QUESTION 5

Your company wants to use Replenishment Wave to maintain adequate inventory levels to meet customer demand by
fulfilling customer\\'s orders on time.

Which Replenishment Trigger Mode needs to be set up in the Replenishment Template for the following condition?
For active Location P20A100

Minimum Volume = 20

Max Volume = 100

Percentage of Max = 20%

Length = 20, Width = 40, Height = 60

If location P20A100 total volume goes below 20, the location is triggered for replenishment
A.

Minimum Capacity

B.

Reactive

C.

Order Based

D.
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Percentage of Max

Correct Answer: D

QUESTION 6

The following configuration is set for the Advance Shipment Notification type: 10% Under Receipt Warning, 10% Over
Receipt Warning, and 20% Over Receipt error.

Which two statements match the condition set if the ASN Qty is 100? (Choose two.)

A. When the Operator receives 125 units, the RF screen displays an Over Receipt warning message.
B. When the Operator receives 101, the RF screen displays an Over receipt warning message.

C. When the Operator receives 110, the RF screen displays an Over Receipt warning message.

D. When the Operator receives 89, the RF screen displays an Under Receipt warning message.

E. When the Operator receives 130 units, the RF screen displays an Over Receipt error message.

Correct Answer:. AB

QUESTION 7

Consider that in your company you are handling lot number tracking of items. Which two statements are true regarding
lot management? (Choose two.)

A. Once can allocate the Inventory against the lot number during waving against an Outbound Order.

B. After performing the Putaway of an IB LPN, which is having the lot number, the lot number will not be transferred to
the Active location.

C. Areceived IBLPN can have multiple lot number-tracked SKUs with different lot number inventory at any point of
time.

D. A batch number in the Batch Management Ul has to be always linked to an expiry date.

Correct Answer: AD

QUESTION 8

Your warehouse is divided into two large areas, Area A and Area B, which store different products. You have set up
your wave to allocate inventory from only Area A, but when the wave is run, both Area A and area B have allocated
items.

What caused the issue?

A. In the Allocation Mode, "Restrict Allocation Zone" was not specified.
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B. In the Allocation Mode, "Restrict Allocation Zone" was set to Area B.

C. Allocation zone was not specified in the task selection criteria.

D. Allocation zone was not specified in the shipping order.

E. The locations in Area A have excessive cycle count tasks against them.

Correct Answer: C

QUESTION 9
Your company has two facilities, one in California, and the other in New Jersey.

The California facility needs to exclusively check the quality of each item on receiving whereas the New Jersey one
need to exclusively perform Value-Added Service (VAS) on each unit during receiving and shipping.

Identify the Location Types that are required to be defined in the Oracle WMS Cloud to receive the items at the
California Facility.

A. Reserve and VAS
B. Active and VAS

C. Reserve and QC
D. Active and Reserve

Correct Answer: D

QUESTION 10

A client can integrate with WMS Cloud by using the input interface.
Which three options can be integrated? (Choose three.)

A. Appointments

B. Loads

C. Orders

D. Item

Correct Answer: BCD

QUESTION 11
Identify the export type that is not supported in an Express Report.

A.CSV
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B. RTF

C. PowerPoint
D. Excel

E. PDF

Correct Answer: C

QUESTION 12

Identify the type of functions you need to use to handle conditional information in a report.
A. Arithmetic and Geometric Functions

B. WMS BI Cloud does not support that type of functionality

C. String Functions

D. Dynamic Functions

E. Logical Functions

Correct Answer: E
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